MANATEE COUNTY GOVERNMENT INTENT TO AWARD

| SUBJECT | Wares Creek / Cedar Hammock Flood Control Project | DATE POSTED | MC DS CC | | |
|---|---|--|---|--|--|
| PURCHASING REPRESENTATIVE | Donna M. Stevens ext. 3045 | DATE CONTRACT SHALL BE AWARDED | Seven days from date posted | | |
| DEPARTMENT | Public Works Department | CONSEQUENCES IF DEFERRED | Delay in project | | |
| SOLICITATION | IFB #13-0967-DS | AUTHORIZED BY DATE | Dennis Wallace, 2013 | | |
| | NOTICE OF INTE | NT TO AWARD | | | |
| responsive and responsible bid | tion for Bid # 13-0967-DS, Wares der, Tampa Contracting Services, completion time of 150 calendar | Inc. of 11010 US Hwy, 41 North | Control Project, to the lowest, ı, Palmetto, FL 34221 for a total | | |
| Federal/State law(s), admin | ENABLING/REGULA istrative ruling(s), Manatee County Com | | inances, resolutions, policy. | | |
| | Manatee County | / Code of Law | | | |
| | BACKGROUND | /DISCUSSION | | | |
| | | | | | |
| community at the Emerson Po construction plans prepared by surveying, best management management of nuisance and | ntract consists of construction of pint Preserve, with a street addreg Vanasse Hangen Brustlin, Inc. of practices; turbidity control featu exotic vegetation and maintenan ndards and specifications noted in ed on page 2. | ess of 5801 17 th Street West, lated March 6, 2013 (Plan Set) res, planting of native species of installed plant species. | Palmetto, FL, as shown on the . The Work includes earthwork, as using nursery-grown plants, | | |
| ATTACHMENTS (List in order of attached) | Department Recommendation Bid Tabulation | FUNDING SOUF (Acct Number & Na | me) Insufficient Funds | | |
| COST | \$132,417.00 | AMT/FREQ OF RECURR COSTS (Attach Fiscal Imp Stateme | pact | | |

| INTENT TO AWARD (continued) | Page 2 |
|--|--------|
| And the state of t | |
| | |

- Appropriate bid procedures were followed. Notice of Bid availability advertised on DemandStar, mymanatee.org and the Manatee Chamber of Commerce.
- One (1) bid was received.
- County Firm Tampa Contracting Services, Inc.

Bid Offering 150 days \$132,417.00

Page 2

- On September 26, 2013 received from Public Works Department the recommendation to award to Tampa Contracting Services., Inc. located at 11010 US Hwy 41 North, Palmetto, FL 34221, for a total base bid of \$132,417.00 with a 150 calendar day completion.
- This funding source for this Agreement (Wares Creek ROW Acquisition) 4656028801-534000/6028801-0004.

BID TABULATION

| - | IFB# 13-0967-DS (WARES C | | MOCK FLOOD PR | ROJECT | |
|----------------------------|--|---------------------------|--------------------|--|--|
| | ADDENDU | JM # 1 | T | Tampa Con | tracting Services, |
| | 150 CALENDAR DAYS | 6 | | 11010 US Hwy, 41 North Palmetto, FL 34221 (Manatee County) | |
| Item No. | ITEM DESCRIPTION | UNIT | QUANTITY | Unit Price | Extended Price |
| 1 | Project Mobilization | LS | 1 | \$11,000.00 | \$11,000.00 🗸 |
| | EROSION, SEDIMENT and POLLUTION CONTROL | | ने । जरश्रहे दे | | Province of March |
| 2a | Curlex Sediment Logs (or approved equal) installation and maintenance | LF | 1700 | \$4.00 | \$6,800.00 🗸 |
| 2b | Floating Turbidity Barriers and Maintenance (ADDENDUM # 1) | LF | 35 | \$17.00 | \$595.00 🗸 |
| 2c | Interim Tidal Blocks Pollution Protection Plan | EA | 3 | \$1,100.00 | \$3,300.00 ✓ |
| 2d | National Pollution Discharge Elimination System (NPDES) Notice of Intent (NOI) Application, Inspection Reporting & Maintenance | LS | 1 | \$1,100.00 | \$1,100.00 ✓ |
| 3 | Site Clearing (Including Mitigation Area Staging Area, Access Route with Onsite Burning) | LS | 1 | \$10,419.00 | \$10,419.00 🗸 |
| 4 | Dewatering (Including Existing Ponds) | LS | 1 | \$5,500.00 | \$5,500.00 🗸 |
| 5 | Site Earthwork (Including filling existing ponds, access creation, creation of mitigation areas per plans, etc.) | LS | 1 | \$55,000.00 | \$55,000.00 🗸 |
| 6 | Import Fill Material (ADDENDUM # 1) | СҮТМ | 200 | \$13.00 | \$2,600.00 🗸 |
| 7 | Road Protection Plan and Maintenance of Traffic (MOT) plan | LS | 1 | \$2,200.00 | \$2,200.00 ✓ |
| MITIGATION PLANTINGS | | | it sur communities | PART NAME OF | A STATE OF THE STA |
| 8a | One-Gallon Red Mangrove @ 5' O/C | EA | 854 | \$8.00 | \$6,832.00 ✓ |
| 8b | Saltgrass/Smooth Cordgrass @ 2' O/C (ADDENDUM # 1) | EA | 1090 | \$1.00 | \$1,090.00 🗸 |
| 8c | Sand Cordgrass/Saltmedow Cordgrass @ 3' O/C (ADDENDUM # 1) | EA | 243 | \$3.00 | \$729.00 🗸 |
| 9 | Cleanup, Construction Stakeout and Record Drawings | LS | 1 | \$10,252.00 | \$10,252.00 🗸 |
| | DISCRETIONARY FUNDS | | | | \$15,000.00 🗸 |
| | Total Cost Based on 150 Calendar Completion Days ADDENDUM #1 | | | | \$132,417.00 V |
| Ack | nowledged Addendum #1 | Starte transmission to be | and the second | | Yes |
| Contractor's Questionnaire | | | | Yes | |
| Lice | nse Information | | | 17 years/ CGC058320 | |
| Site | Visit | | | 9/9/2013 | |
| | ida Trench Safety Act | | · 表示数别类。 | Yes | |
| - | lic Contracting & Environmental Crimes Bond | | | Yes Yes | |
| - | davit for Local Business (if applicable) | | | Yes | |
| | | | | 8 | |

Notes:

DID TABULATION

FOR

IFB# 13-0967-DS

WARES CREEK / CEDAR HAMMOCK FLOOD CONTROL PROJECT BASED ON A COMPLETION TIME OF 150 CALENDAR DAYS

PREPARED BY:
(Project Management)

Walter Sowa, Sr. Engineering Specialist

Date

REVIEWED BY:
(Project Engineer)

R.J. Ezazi, AECOM

Date

APPROVED BY:
(Purchasing)

Donna Stevens, Contract Specialist

Date

Page 2 of 2

MEMORANDUM

PUBLIC WORKS DEPARTMENT

Project Management 1022 26th Avenue E. Bradenton, FL 34208



Phone: 941-708-7450 Fax: 941-708-7549 www.mymanatee.org

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P. E., Project Management Division Manager

Date:

September 26, 2013

Subject:

Wares Creek / Cedar Hammock Flood Project / Emerson Point Mitigation

Tampa Contracting Services

Recommendation for Award - IFB #13-0967-DS

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract with a construction time of 150 days be awarded to the lowest responsive, responsible bidder, Tampa Contracting Services in the amount of \$132,417 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Storm Water Capital Improvements.

Please contact Walter Sowa, Sr. Engineering Specialist if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/ws

CC:

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Walter Sowa, Sr. Engineering Specialist

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

Project File: 6028801 9.2